M1

IFTobby(0.0,4.5)

FPuig(0.0,3.5)

Eucledean[ M1 - M2 ]
min [4,5]=0.0
Max [1,6]=3.1622777

*MetaHedd(8,0,9)0)

*Rose(Z2%m6)(3.0,3.5)

*Michel P.(2.5,3.0)

M2



M1

*Puig(0.0,3.0)

*Tobby(0.0,0.0)

1

Eucledean[ M1 - M3 ]
min [0,2]=0.5
Max [2,6]=4.3011627

*Michel P.(2.5,3.5)

*Rose(2.5,3.0)

*LaSalle(3.0,2.0)

*Semur(3.0,1.5)

*Matthieu(3.0,0.0)

3 4

M3



M1

*Foigt9(0,9,8)0)

Eucledean[ M1 - M4 ]
min [1,5]=0.0

R OR ) 19376

*Rose(2.5,3.5)

*LaSalle(3.0,3.0)

*Michel P.(2.5,0.0)

3 4

M4



M1

=

*Puig(0.0,2.5)

*Tobby(0.0,1.0)

Eucledean[ M1 - M5 ]
min [1,5]=0.0
Max [5,6]=3.905125

*Matthie (3 3,3).5)

*Rose(2.5,2.5)

*LaSalle(3.0,2.0)

*Michel P.(2.5,0.0)

3 4

M5



M1

*Puig(0.0,4.5)

*Tobby(0.0,0.0)

1

Eucledean[ M1 - M6 ]
min [1,4]=0.0
Max [2,6]=4.7169905

*Michel P.(2.5,4.0)

*Rose (2 ShRuiHA® BB)0)

M6



M2

Eucledean[ M2 - M3 ]
min [0,3]=0.0
Max [2,6]=3.8078866

*Michel P.(3.0,3.5)

*Ror(3.3,3.0)

*LaSalle(4.0,2.0)

*Semur(3.5,1.5)

*Matthield ;,@.3),0.0)

M3
4 5



M2

Eucledean[ M2 - M4 ]
min [0,3]=0.5

M ax’*[SZe’ mu r§%5ibi(%%4.o, 5.0)

*Puig(3.5,4.0)*Tobby(4.5,4.0)
*Rose(3.5,3.5)

*LaSalle(4.0,3.0)

*Michel P.(3.0,0.0)

M4
3 4 5



M2

Eucledean[ M2 - M5 ]
min [0,3]=0.0
Max [2,5]=3.640055

*Semur(Blatthi®u(4.0,3.5)

“RoBH®.5,2.9)

*LaSalle(4.0,2.0)

*Tobby(4.5,1.0)

*Michel P.(3.0,0.0)

M5
3 4 5



M2

Eucledean[ M2 - M6 ]
min [0,1]=0.0
Max [3,6]=4.609772

*Puig(3.5,4.5)

*Michel P.(3.0,4.0)

*Reisa(XEERARNM9,8,8)0)

*Tobby(4.5,

4 5

0.0)
M6



M3

> *Matthieu(0.0,5.0)
Y “Tobby(0.0,4.0

3

2

1

*Semur(1.5,5.0)

Eucledean[ M3 - M4 ]
min [0,3]=0.5
Max [2,5]=6.1032777

*Puig(3.0,4.0)

*Rose(3.0,3.5)

*LaSalle(2.0,3.0)

*Michel P.(3.5,0.0)

2 3 4

M4



M3

=

*Matthieu(0.0,3.5)

*Tobby(0.0,1.0)

Eucledean[ M3 - M5 ]
min [0,3]=0.0
Max [2,5]=4.9497476

*Semur(1.5,3.5)

“Rosf(B.0, 2 5)

*LaSalle(2.0,2.0)

*Michel P.(3.5,0.0)

2 3 4

M5



M3 Eucledean[ M3 - M6 ]
5 min [1,4]=0.5
Max [3,6]=5.408327

*Puig(3.0,4.5)

4 *Michel P.(3.5,4.0)
3 *Matthieu(0.0,3.0) *Semur(laS#3LeR.0,3:®ose(3.0,3.0)

2

1

*Tobby(0.0,0.0)

1 2 3 4

M6



M4

*Michel P.(0.0,0.0)

1

Eucledean[ M4 - M5 ]
min [1,5]=0.0
Max [2,5]=6.1032777

*Mearttini €5.(

*Rose(3PuR$).0,2.5)

*LaSalle(3.0,2.0)

*Tobby(4.0,1.0)

M5



Eucledean[ M4 - M6 ]
min [1,5]=0.0
Max [2,6]=5.656854

*Puig(4.0,4.5)

*Michel P.(0.0,4.0)

*LaSalléfn6e8303,3.0) *Matniniéiu

*Tobby(4.0,0.0)

M6
1 2 3 4 5



M5 Eucledean[ M5 - M6 ]
5 min [1,5]=0.0
Max [3,6]=4.7434163

*Puig(2.5,4.5)

*Michel P.(0.0,4.0)

*LaSall&éRnBe8203,3.0) Matthie13, 35.3).0)

*Tobby(1.0,0.0)

1 2 3 4






